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Rav Ashee said; it is required, etc. - 9912 TILIONR MWK 27 MWN

Overview

The X7m3 derived different types of »n"2%p from different o105, However there
seems to be a case which does not fall into any of these categories. mo0I1n explains
from where we derive n"2%p in this instance as well.

nooIN asks:
- 29T 10 PPNV Y9 N9 ORT YNRYUNT NN

It is astounding; for it seems that if someone killed a person and simultaneously

ripped the victim’s silk cloth that he will be liable to pay for the Px7w, and we will

not exempt him on account of n"2%p -
- PON 197 *N9T XIPMI RY 79909519 NIYYT

Since we cannot exempt him from payment, not from the 195 of oK 797> XY
- WO 1M HNH YOI PN MN RNT W) NN WY XIPN NI

And we also cannot exempt him from payment based on the o5 of wei nnn wei,

since here it is w21 1% as a punishment for w21y 3312, We also cannot say that in this

case, indeed he is 2’171 to pay -
- %y35an Sy PRIPY Y99I 9w 112990 YaRY 91 AN 909 (5 9m Y9

But previously [PwX 239] (»2X) exempted from payment, a non-3}12 who ate his
own 72170 and ripped the PR of his friend, on account of n"2%p -

N1v0IN answers:
- 715D1h 927 NINN 1791 $P9) NNNN 2957 1Y Y

! We are discussing where he simultaneously did two acts, he killed the person, and ripped the 9rX 1272 PRW.

% 29,85 (o°ouwn) nww. This P05 exempts from payment (only) if the in"a 21’ and the monetary obligation happened
with one act (where he pushed the women and killed her [7in*] and the fetus [Pm%wn]). However here the killing
and ripping were two (simultaneous) separate acts. See footnote # 1. See (however) X"wmn.

? This P100 teaches us n"29%p even if there were two acts as in the case of R"72 1771 1V DX R0, however there the
blinding of the eye is 0172 2°wn X2 (as MoON said previously &7 1"72 [see TIE there footnote # 6 & 7]), so there is no
payment due; however here the ripping of the 0°X7"¥ is an additional loss (beside the killing) so it is considered n
wo 1 nn wo and not like there where it would be X727 wd1 nnn wan 1v!

‘A marginal note amends this to read *wX 27 (instead of »2X). See w"wA.

> This is according to the view (73p7 12 X211 1) who applies »"2%p even by oW >7°2 7in"», which is the punishment
for a 71 who eats 7m17n. There is no 1n 211 for eating (the s'172) Am17n, for it belonged to the 71. He either bought it
or inherited it from a 375 relative (maternal grandfather).

% Here there are two simultaneous acts (of 7m» arm and Tmn 2vA) and nevertheless ™R maintains n"3%p. The
question is from where did »ax derive this?

7 The wp can be expounded to say; just as by 7»72 791 you are always liable whether it was with one 7192 or two man,
the same way by 07X 791 we say n"2%p in all instances whether it was one act or two acts. See ‘Thinking it over’.
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And one can say that truthfully all cases of »"2%p are derived from the r''7n —

mooIn clarifies:®
- XY TPPIN 227 NID TR 33 N WIS 391

And this is the explanation of what X327 asked; ‘but this too ( 13771 12°¥ DX X1°0

X'"72) can be derived from the other 13''Tn’ (of 1y nrn 1) -
= 91097 NOPIN 2327 NINN 19 NP NP1 RN 191D 0N DI TPV KD TN DY 99195

Meaning to say, perforce we do not require the 7109 of 29m %2 to teach this
ruling (of X"72 21 X7°0), for rather we can derive all cases of »"2%> from n''7n

that they are exempt from payments -
- T5m10 527 NID TPND 159 135909 1D BN Y9 XY 15909105 AP TP 190 INT

For if a mop is required to exempt him (in these other cases), we still would
have exempted him without the 7109 of 2917 %3, but rather from the 11''7n 778!

mooIn asks: '’
= PRIY YD) 19°30 191D DN D TII0NINT 23D 9NN ON)

And if you will say, and let *wx 17 answer'' the question of X327 that we require

the »o5 of 291 92 for this case where he Kkilled his friend and ripped silk, that he
is exempt from paying —

Mo0IN answers:
$NT DY AN NIPNAY NYAN NN P DY NAY 119193 N ¥IYN N79% XD DN YT 912D ¥

And one can say that it seems to "wX 11 that the words 779> X2 291 > indicates
that we are discussing a monetary damage that occurred through the same blow
which caused the death; however the case of XWw ¥ 1°2n 2177 is when they came as a

% According to what m2on just said that we can derive all types of n"2%p from 72 9%, why did X217 challenge *»7
X 92 that we do not need a7 92 for X'"72 137 1% 1R 810, for we can derive it from 1"'70 J7°X (the 121 PV Dnn PY),
when according to N1901n explanation, X271 should have said we can derive it from the 1"7n of 7172 751 as NBOIN just
explained (in footnote # 7). N190IN responds to this question.

? The issue here is why do we need the 071 %3. According to 127 it teaches us »"2%p by X"72 121 ®=°0, which
according to 1"27 we cannot drive from "0 of 772 77, since there it implies one 7X3;7 not two. X271 argues that we
do not need 2511 95 for ¥n°0, since we can derive it from r1"7n of n172 797 (and therefore o7 93 is teaching something
else, as "WX 217 explains later). To prove his point X217 argues that even according to you that we cannot derive X1n°0
from 772 701, but we can certainly derive it from 1"7n 7R (of PV), so in any case 071 73 is still superfluous. This
proves that 0711 22 is used as X" explains and 121 X°0 as well as PR1w y7p are all derived from the original n"7n.

19 Regarding this case (X" ¥7P1 17°21 377), X217 could not have said (as he did regarding the case of 1"a7) that we
can derive it from 11"7n 77X, for this is not case of X771 w51 NN woN 'Y, but rather w1 1n nin wan 1n. Why was
it necessary for *wX 27 to totally disregard the approach of n"11 and utilize o7n 95 for something completely
different.

' This question seems to be the reason why the 1" of this MO is *wX 27 K, and not 121 X271 "X, since seemingly
the beginning of this M50 is discussing X217, but not *wX 27. See however footnote # 9.
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result of two different acts.

Summary
We derive all cases of n"2%p (even if done in two [simultaneous] acts) from 1"7n of

772 7on. The 0 %5 P1oo indicates a case with one act only.

Thinking it over

Mmoo writes that NaR7 9% we derive everything (including killing and damaging
with two actions simultaneously) from 27X 79 1"7n."* Previously'” mooin wrote
that 07X 7707 and 772 7107 indicate that it is with one blow (not two). How can we
reconcile these two moowmn.'*

12 See footnote # 7.
B xa 7"
' See 0",
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